
BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

2022 Parts Pricing
Efffective August 1, 2022

Note: Interpack parts are listed after Better Pack parts on this master price sheet.

Better Pack Part Number Description List Price
1114 1/4 IN. EXT. LOCKWASHER $1.14
1118 LOCKWASHER $1.14
88014 SHRINK TUBING 1/4 X 1 $1.98
6000092 FEED WHEEL $31.02
6000120 WATER TANK $25.72
6000123 WATER TANK ASSY $63.16
6000211 FRONT COVER $42.52
6000212 TOP COVER ASSY $109.76
6000380 YOKE PIVOT SHAFT $6.07
22000479 RUBBER STOP $9.51
22000980 BUSHING $9.51
22001185 SWITCH $9.51
23300190 KNOB $9.51
74000916 BUSHING $9.51
74000943 PIN FOR RUBBER STOP $10.97
74003187 CONTROL BOX $64.00
74003188 EMERGENCY PUSH BUTTON $71.83
74004716 PHOTOCELL BP3000CS AFC CX58 $628.59
74004772 WHEEL $11.40
74004781 BRACKET TO WHEEL $185.63
74004786 WHEEL HOLDING PIVOT $78.10
74004791 RIGHT REDUCTOR $480.42
74004803 HANDLE $36.71
74004804 HANDLE $30.86
74004811 SUPPORT PULLEY $65.13
74004814 STOP SHAFT $406.14
74004820 LOWER RIGHT BELT FRAME $409.73
74004821 UPPER RIGHT BELT FRAME $245.27
74004822 LOWER LEFT BELT FRAME $409.73
74004823 UPPER LDFT BELT FRAME $245.27
74004830 RIGHT FOOT SUPPORT $595.25
74004831 LEFT FOOT SUPORT $595.25
74004839 RIGHT BRACKET $222.22
74004840 ARTICULATED FOOT $79.24
74004842 SHAFT TO PULLEY $58.94
74004843 TENSIONING SHAFT $73.69
74004845 COGWHEEL $78.80
74004846 BRAKE YOKE $130.14
74004847 FEMALE THREAD $210.61
74004848 PULLEY WITH BEARING $107.96
74004850 COGWHEEL $79.86
74004853 MOTOREDUCTOR SHAFT $243.56
74004856 PULLEY $261.22
74004867 BELT $400.92
74004870 PHTOTOSENSOR $586.71
74004878 WASHER $9.51
74004882 FLAP CLOSING PIN $139.44
74004883 SPRING PIN $121.87
74004885 P/C BOARD                                    $751.48

1

Eric Marcarelli
Call The Patco Group at 718-497-1527 to order



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

74004912 CHAIN $199.58
74004915 CHAIN TENSIONER $65.08
74004919 ELECTROMAGNETIC SWITCH $325.99
74004950 PIPE FITTING $29.18
74004952 PRESSURE REGULATION FILTER $351.70
74004955 AIR MANOMETER $72.34
74005010 FLAP CLOSING STEEL FRAME $174.18
74005012 IDLER PULLEY SUPPORT $121.87
74005013 PULLEY SHAFT $69.72
74005014 IDLER SEMI-PULLEY $208.88
74005015 FRONT BELT FRAME INTERNAL SUPPORT $348.21
74005016 REAR BELT FRAME INTERNAL SUPPORT $339.54
74005020 BELT $769.01
74005031 RIGHT UPPER STEEL COVER $621.17
74005033 FLAP CLOSING FRAME $469.81
74005034 FLAP CLOSING HORN $182.66
74005035 RIGHT SIDE FRAME $358.59
74005036 LEFT SIDE FRAME $358.59
74005037 LEFT LOWER STEEL COVER $1,043.21
74005038 RIGHT LOWER STEEL COVER $1,258.16
74005047 CONTROL CARD FOR BP3000CS AFC $1,139.47
74005059 FLAP CLOSING DEVICE MAST $161.84
74005060 HEAD CARRIAGE $588.25
74005061 FLAP CLOSING DEVICE CARRIAGE $444.92
74005071 ELECTROVALVE $459.17
74005072 ELECTROVALVE APA $1,288.27
74005083 HEAD CARRIAGE MAST $161.84
74005085 SWITCH $9.51
74005086 TENSION SPRING $9.51
74005093 SCREW GEAR SET HEAD CARRIAGE $573.98
74005094 ROLLERS FOR CARRIAGE $98.07
74005095 MANUAL DRIVE "UP & DOWN CARRIAGE SET $573.98
74005096 FLAP CLOSING PNEUMATIC CYLINDER $735.52
74005097 FLAP CLOSING ARM $416.65
74005098 PAPER TENSIONAING SPECIAL ARM 500MM $199.85
74005100 GEAR MOTOR SHAFT $359.48
92002101 FOOT SWITCH DOUBLE $177.66
0010180 ANCHOR BLOCK DRILLED $25.54
0010340 FEED WHEEL $11.96
0010500 WOOD SPOOL $6.37
0043090 ROLLER $2.90
0070422 MAIN GEAR ASSY $59.83
00705101 GEAR W/BEARING ASSY $26.56
0071090 CLUTCH HUB $15.51
0071100 SPRING, CLUTCH $10.06
0071120 WASHER $1.76
0123360 CLUTCH SPRING $7.43
0128090 BUMPER $3.23
0128370 BLADE TENSION SPRING $3.00
0128570 LEFT FRAME $12.74
0128572 DRIVE MECHANISM ASSY $144.67
0128581 MEASURING DIAL ASSY $12.44
0128620 FEED STOP SCREW $7.22

2



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

0128650 BASE FOR TS404 $50.51
0128670 COVER FOR TS404 $36.39
0128690 TANK FOR TS404 $12.28
0128691 TANK ASSY. $18.88
0128700 TANK COVER $14.90
0128710 TAPE WEIGHT $7.28
0128731 L. FEED WH SHAFT ASSY $16.65
0128760 FRAME SPACER $4.30
0128771 UP. FEED WH. SHAFT ASSY $15.73
0128790 PRESSURE PLATE $10.98
0128801 CUTTER CAM & LEVER ASSY $12.74
0128810 FOOT $2.01
0128820 BLADE $8.61
0128821 CUTTER CAM L & BL ASSY $22.65
0128830 ROLL GUIDES $6.21
0128840 TENSION SPRING $3.92
0128850 CUTTER PLATE $3.00
0128881 GEAR & HUB ASSY. $20.88
0128910 FEED STOP PLATE $4.45
0128920 FLANGE BUSHING $1.31
0128930 FLANGE BUSHING $2.46
0128940 SPACER $1.76
0128970 PLASTIC BUMPER $1.54
0128980 BRUSH, NYLON $22.02
0129210 COMPOUND GEAR $15.57
0129230 COMPOUND GEAR SHAFT $4.45
0129560 BASE PLATE $25.32
0129570 DRIVE SHAFT $14.74
0129571 DRIVE SHAFT ASSY. $37.61
0129572 DRIVE SHAFT ASSY. $67.37
0129580 OPERATING LEVER $22.88
0140190 STUD $4.41
0140400 ROLLER $2.69
0166090 LABEL BAR $17.68
0166100 LABEL WEIGHT $34.58
0166110 REAR FOOT PAD $2.17
0166120 FRONT PAD $2.17
0166151 COVER & BAR ASSY $37.11
0166160 FRONT PAD PANEL $32.19
0220330 CARTON UNPRINTED UNI101 $9.06
0220331 TS150 CARTON/BASE PRINTED $15.41
0220440 TS404 SINGLE $3.70
0220442 TS404 MASTER 4 CARTON $8.73
0231120 WASHER $1.14
0231290 BEARING $4.30
0231420 SCREW, 10-32 X 3/8 TRUSS $1.14
0231440 WASHER STEEL .315 X 1"" $1.04
0231520K SCREW, #6-32 X 5/16 PHFH   PKG (4) $3.38
0231760K SET SCREW, HEX #10-32X1/4 PKG OF 2 $2.81
0232080 WASHER $1.04
0232190 BEARING $2.85

3



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

0232370 WASHER $1.84
0232480 WASHER SHIM $1.14
0232550 RETAINING RING $1.14
0233030 WASHER .265 X .5 X .016 $1.14
0233760 RETAINING RING $1.14
0234640 COMPO BEARING $1.76
0235050K RETAINING RING, 5144 PKG 2 $1.71
0235170 RETAINING RING $1.76
0235190 ROLL PIN, 3/16 X 1 $1.26
0235400 WASHER $1.14
0235710 RETAINING RING $1.54
0235900 SCREW 1/4-20 X 2 1/4 OVAL $2.08
0235990 POP RIVET $1.14
0236510K RETAINING RING FOR 1/2" PKG OF 2 $3.06
0236670 PUSH NUT $1.14
0236880 TERMINAL $1.14
0236980 POP RIVET $1.14
0236990 SCREW, # X 3/8 PHIL $1.14
0237010 ROLL PIN 1/8 X 1 1/8 $1.14
0237010 PIN ROLL 1/8" X 1-1/8" $1.14
0237050 SCREW 8-32 X 3/8 PHIL PAN $1.14
0237060 FLANGE BEARING $1.54
0237450 RIVET, TUBULAR 1/8 X 1/4 LG. STAINL $1.02
0237710 SCREW 10-16 X 3/4 PHIL $1.14
0237760 SCREW, SELF TAPPING #6 X 3/4 $1.14
0237770 SPACER $1.14
0260382 BLADE ASSY $28.63
0260910 LOWER BLADE $19.18
0330030 BOTTOM SEPARATOR $19.18
0330040 CENTER SEPARATOR $15.73
0330080 LOWER TAPE PLATE $18.73
0330410 FEED STOP SCREW $8.93
0330420 LINK $3.54
0330450 SCALE, MEASURING $4.45
0330500 TAPE WEIGHT $36.54
0330571 PRESSURE PLATE ASSY $31.23
0330580 STUD $5.15
0332011 LEFT SIDE FRAME $139.69
0332012 LEFT SIDE FRAME BEARING ASSY $123.28
0332021 RIGHT SIDE FRAME $137.39
0332022 RIGHT SIDE FRAME BEARING ASSY $121.25
0332040 TYGON BUMPER $1.54
0332060 TY ROD $4.68
0332070 SPRING $6.82
0332071 SPRING ASSY $7.45
0332080 FEED WHEEL BUSHING $3.54
0332150 OPERATING LEVER $30.09
0332151 LEVER ASSY. $57.02
033220X CUTTER YOKE ASSY $66.42
0332300 SHAFT $3.77
0332310 SPRING, LEVER RETURN $11.42
0332311 SPRING ASSY $16.73
0332312 SPRING ASSY $14.76

4



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

0332341 CHAIN ASSY $2.60
0332350 MAIN SHAFT $32.08
0332351 MAIN SHAFT & HUB ASSY. $86.72
0332352 MAIN SHAFT ASSY. $141.23
0332353 MAIN SHAFT ASSY $118.12
0332361 FEED SHAFT ASSY $26.56
0332440 TYGON BUMPER $4.22
0332490 FD. WHEEL ADJ LABEL $1.65
0332590 LONG GRIP $16.65
0332600 SHORT GRIP $9.44
0333020 SPACER 196 LONG $1.31
0333070 WATER BOTTLE $21.03
0333080 BOTTLE BRACKET ADJUSTABLE $12.28
0333090 BOTTLE BRACKET FIXED $13.82
0333100 TAPE ROLL GUIDE $17.62
1106 6-32 EXT. LOCKWASHER $1.14
1110K LOCKWASHER FOR #10 PKG OF 3 $1.09
1112 EXT. LOCKWASHER $1.14
1120 3/8 EXTERNAL LOCKWASHER $1.54
1203 LOCKWASHER, 3-48 INTERNAL $1.14
1206 6-32 INT. LOCKWASHER $1.14
1208 LOCKWASHER 8-32 $1.14
1210K LOCKWASHER  10-32 INT.   PKG OF 6 $2.19
1212 INT LOCKWASHER $1.14
1214 1/4 IN INT. LOCKWASHER $1.14
1218 LOCKWASHER 5/16 $1.14
5600072 STUD & PLATE ASSY $71.80
5UN0031 LEFT SIDE FRAME ASSY $61.90
5UN0032 LEFT FR./ BEARING ASSY $91.86
5UN0033 LEFT FRAME ASSY $76.55
5UN0034 LEFT FRAME ASSY $112.64
5UN0041 RIGHT SIDE FRAME ASSY $62.27
5UN0042 RT FRAME, BEARING & FEET $85.97
5UN0043 RT FRAME ASSY $96.19
5UN0144 ROCKER,FINAL ASSY. $68.28
5UN0180 UPPER FEED WHEEL $26.64
5UN0181 UPPER FEED WHEEL ASSY $31.38
5UN0190 UPPER FEED SHAFT $9.81
5UN0211 KNIFE ASSY $21.15
5UN0250 FEED WHEEL SHAFT $15.57
5UN0251 FEED WHEEL SHAFT ASSY $33.31
5UN0271 PRESS PLATE ASSY $16.43
5UN0273 PRESS PLATE HTR/WHT ASSY $131.62
5UN0276 HEATER ASSY, 220V 'CE' $134.70
5UN0280 LOWER LIP $28.39
5UN0290 WEIGHT HUB PLATE $9.35
5UN0330 TANK $9.81
5UN0340 TANK PLATFORM $11.59
5UN0350 PLATFORM SUPPORT ROD $7.75
5UN0370 UPPER TAPE PLATE $22.02
5UN0380 LOWER TAPE PLATE $49.26
5UN0390 UPPER ROLLER SHAFT $2.46
5UN0400 UPPER ROLLER TUBE $8.11
5UN0401 UPPER ROLLER ASSY $20.10

5



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

5UN0410K UPPER ROLLER BUSHING  PKG OF 2 $7.97
5UN0430 BOTTLE, 755 & 754 $22.41
5UN0561 MOTOR COVER ASSY $27.40
5UN0562 MOTOR COVER ASSY $32.45
5UN0563 MOTOR COVER, PLATFORM ASY $56.03
5UN0570 MOTOR PAN $12.34
5UN0590 115V MOTOR $329.94
5UN0591 MOTOR & TERMINAL ASSY 115 VOLT $339.99
5UN0600 220V MOTOR $290.11
5UN0601 MOTOR ASSY 230 VOLT $330.80
5UN0620 SOLENOID MTG PLATE $24.34
5UN0621 SOLENOID ASSY 115 VOLT $134.70
5UN0630 BOTTOM SEPARATOR $18.13
5UN0710 ROLL GUIDE $12.96
5UN0740 FRONT PANEL $9.40
5UN0741 FRONT COVER ASSY. $31.17
5UN0750 HANDLE $21.57
5UN0760 FRONT CROSSMEMBER $12.47
5UN0780K SPRING, FEED TENSION PKG OF 2 $5.39
5UN0790 TENSION LINK $4.67
5UN0811 CONSOLE ASSY - BP755 $297.78
5UN0811CM CONSOLE ASSY - BP755EXE $297.78
5UN0820 CABLE CLAMP PLATE $3.92
5UN0830 HINGE $3.29
5UN0880 SIDE COVER MTG PIN $3.45
5UN0921 RIGHT SIDE COVER ASSY, 755 $620.12
5UN1012 ASY, CONTROLLER BD, 755,220,CE $333.88
5UN1013 ASSY CONTROLLER BD, 755. 110V $322.36
5UN10300 STUD BP755 BP754 $5.07
5UN1050 KEYSWITCH ASSY 135 METRIC $289.28
5UN1100 CABLE ASSY BP755 W/CNNCTR $84.74
5UN1142 BOARD ASSY. 754EXE 220V $314.31
5UN1151 PHOTO TRANS. ASSY-BP754 $38.60
5UN1171 SWITCH PANEL ASSY $340.96
5UN1180K ROCKER RETURN SPRING       PKG OF 2 $6.88
5UN1241CM CONSOLE ASSY - BP754EXE $462.02
5UN1301 RIGHT SIDE COVER ASSY, 754 $392.95
5UN1360 COVER, REAR 755/754 $29.03
5UN1370 TIE ROD $16.49
5UN1381 TOP COVER & HINGE ASSY $36.46
5UN1400K LABEL, GROUND  PKG OF 3 $5.16
5UN1430 ROCKER PIVOT SHAFT $3.92
5UN2140 WIRE ASSY. $1.36
5UN2150 WIRE ASSY. $1.42
5UN2411 WIRE ASSY, BLACK, SW/FS $6.88
5UN2421 WIRE ASSY, WHITE, SW/FL $4.97
5UN2431 WIRE ASSY, BLACK, FS/FL $6.44
5UN2441 WIRE ASSY, GRN W/YEL, FL/GD $4.30
5UN2451 WIRE ASSY, BLACK, FL/RN/CN/BD $4.30
5UN2461 WIRE ASSY, WHITE, FL/CN/BD $4.30
5UN2471 WIRE ASSY, RED RB/CN/BD $4.30
5UN2511 LINE FILTER ASSY, 220V $25.07
5UN2512 LINE FILTER ASSY. $28.28
5UN2541 WIRE HARNESS ASY,RT SIDE COVER $16.90

6



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

5UN2550 PLATE, HEATER CONNECTOR HOLE $4.91
5UN2571 WIRE ASSY, WHITE, BS/CP $2.63
5UN2581 POWER CORD ASSY $19.17
5UN2621 SOLENOID ASSY 230 VOLT $141.32
5UN2641 WIRE ASSY. $4.30
5UN2680 INSULATOR FOR FILTER $3.68
5UN2711 WIRE ASSEMBLY $5.06
5UN2721 ASSY, MOTOR DRIVE - MODEL 754J $333.33
5UN2730 SOLENOID 100 VOLT $99.72
5UN2731 SOLENOID ASSY.754J 100 VOLT $149.66
5UN2750 MOTOR 100 VOLT $105.18
5UN2930 KNOB, SHORT $6.85
5UN2950 FELT RING $3.19
5UN3020 SENSOR BRACKET $6.88
5UN3021 ASSY, SENSOR BRACKET $13.95
5UN3051 ASSY,GROUND WIRE W/TERMINAL 755/754 $2.91
5UN3081 BP755ES CONTROL BOARD $352.37
5UN3082 BP755EM-230C CE CONTROL BOARD $293.64
5UN3091 ASSY. CONTROLLER BD 755EMA $151.80
5UN3092 ASSY. KEYBOARD BP755D-CM $151.80
5UN3101 CABLE 16 COND, RIBBON W/JACKET $25.37
5UN3110 WATER BOTTLE $16.33
5UN3120 COVER LEFT SIDE $44.59
5UN3121  ASSY.  LEFT SIDE COVER $53.17
5UN3130 COVER RIGHT SIDE $65.95
5UN3181 BP755ESA 115V CONTROL BOARD $333.88
5UN3182 BP755EMA 230V CONTROL BOARD $333.88
5UN3183 BP755EJA 100V CONTROL BOARD $323.73
5UN3191 ASSY. KEYBOARD BP755ESA INCH $178.08
5UN3200 PLATE, POWER ENTRY $7.07
5UN3201 ASSY, POWER ENTRY 115V $67.55
5UN3202 ASSY, POWER ENTRY 230V $90.88
5UN3211 WIRE ASSY. BROWN FUSE TO SWITCH $5.29
5UN3221 WIRE ASSY. BLUE FUSE TO SWITCH $5.05
5UN3231 WIRE ASSY, BROWN FILTER TO FUSE $3.54
5UN3241 WIRE ASSY, BLUE FILTER TO FUSE $2.52
5UN3250 BRK. WATER BOTTLE ADJUSTMENT $4.81
5UN3260 TOP COVER, BP755E $45.49
5UN3261 NEW TOP COVER & HINGE ASSY. $50.99
5UN3270 CONSOLE HOUSING $15.65
5UN3271 CONSOLE ASSY. BP755E $269.34
5UN3280 TAPE CUT PLATE, TOP HEATER $5.35
5UN3290 HEATER COVER $10.07
5UN3291 ASSY, TOP HEATER, LOW VOLTAGE $134.70
5UN3292 ASSY, TOP HEATER, LV W/SENSOR $134.70
5UN3301 KEYBOARD ASSY. W/COMP. BP755ESA $294.75
5UN3302 KEYBOARD ASSY. W/COMP. BP755EMA $294.75
5UN3312 ASSY. HEATER PLATE & ELEMENT W/PEMS $74.60
5UN3330 SPACER MAGNET SWITCH MAGNET $6.88
5UN3341 CONSOLE ASSY. BP755ESA EJA IN. $297.78
5UN3342 KB CONSOLE ASSY. BP755EMA  CM $297.78
5UN3351 WIRE ASSY. GROUND WIRE $4.95
5UN3360 SCREW,ROLL GUIDE ADJUSTMENT $14.12
5UN3361 ASSY. ROLL GUIDE ADJ SCREW $20.26

7



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

5UN3370L ROLL GUIDE, LEFT SIDE, BP755E $22.16
5UN3370R ROLL GUIDE, RIGHT SIDE, BP755E $22.16
5UN3381 ASSY, TAPE SENSOR $19.99
5UN3390 CABLE 2 COND, 22AWG 26" LG. $6.66
5UN3391 CABLE ASSY, 755E HEATER $14.74
5UN3400K TAPE WEIGHTS      PKG OF 2 $11.79
5UN3401K TAPE WEIGHTS      PKG OF 2 $15.11
5UN3411 MOTOR ASSY. BP755E 115V $339.99
5UN3412 MOTOR ASSY. BP755E 230V $300.28
5UN3413 MOTOR ASSY. BP755E 100V $333.33
5UN3421 ASSY. MAGNETIC REED SWITCH $6.73
5UN3431 WIRE ASSY. BROWN SWITCH TO BOARD $6.01
5UN3441 WIRE ASSY. BLUE SWITCH TO BOARD $5.85
5UN3451 CABLE ASSY. SWITCH TO PCB $14.00
5UN3471 ASSY. RANDOM SWITCH $46.72
5UN3481 ASSY. RIGHT SIDE COVER BP755ES $312.85
5UN3500 POWER ENTRY PLATE $8.79
5UN3510 THUMB KNOB ROLL GUIDE ADJ. $7.34
5UN3521 WIRE ASSY. BLUE FILTER TO SWITCH $7.06
5UN3541 SOLENOID ASSY. BP755E 115V $134.70
5UN3542 SOLENOID ASSY. BP755E 230V $134.70
5UN3543 SOLENOID ASSY. BP755E 100V $149.66
5UN3551 KEYBOARD CONSOLE ASSY. 755ES $210.62
5UN3552 KEYBOARD CONSOLE ASSY. 755EM $210.62
5UN3561 WIRE ASSY. MOTOR CAP TO BOARD CON. $5.66
5UN3570 TOP COVER SHORT CODE TAPER $31.73
6000150K ROLLER     PKG OF 2 $7.68
6000151K WOOD ROLLER ASS'Y PKG OF 2 $17.92
6000220K WOOD SUPPORT ROLL BUSH.  PKG OF 2 $3.87
6000250 LOWER BLADE SHAFT $2.78
6000260K CONTROL BOX STOP BUMPER   PKG OF 4 $1.54
6000290K PIN PKG OF 4       (Do not use for UNI) $4.13
6000460 SUPPORT SHAFT $5.69
6000461 TAPE GUIDE SHAFT ASSY $41.23
6000560 BRIDGE PLATE $11.61
6000680 SOLENOID BUFFER $6.21
6000700 YOKE PIVOT SHAFT BUSHING $2.46
6000840 SOLENOID 115 VOLT $85.19
6000844 SOLENOID 230 VOLT $85.19
6001070 BLADE TORSION SPRING $17.73
6001080 YOKE $15.13
6001081 LOWER BLADE & YOKE ASSY $40.23
6001170 PARALLEL CONNECTOR $1.54
6001290 BRUSH GUIDE $2.46
6001300 SOCKET, HEATER $5.15
6001301 HEATER SOCKET ASSY $30.76
6500190 TAPE GUIDE SHAFT $4.96
6500191 TAPE GUIDE SHAFT ASSY $32.77
85500018 BLACK BULK WIRE - 220V $1.02
85500118 18AWG WIRE BROWN 220V $1.02
85500618 BLUE BULK WIRE - 220V $0.52
88018 SHRINK TUBING 4' X1/8 $2.32
88038 TUBING, HEAT SHRINK,3/8"" X 4"" $2.32
9002600 LABEL, ""NO HANDS WARNING"" $1.31

8



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

9002800 LABEL $2.95
9002810 WARNING LABEL $0.61
9003500 CAUTION LABEL $1.58
90036400 LABEL, PATENTS PENDING $2.79
9004020 LABEL,OVAL TOP COVER BP500 $3.13
9004150 LABEL HEAT TRIANGLE $1.29
9004300 LABEL BP754 ELECTRONIC $7.90
9004310 LABEL BP755 ELECTRONIC $6.39
90046201 LABEL BP755E $4.73
92002001 FOOT SWITCH SINGLE $94.20
A473M STICKY FOOT $1.42
A47K RUBBER FOOT     PKG OF 4 $10.98
APS29 BEARING $3.00
APS61 SPRING $3.68
APS76 GROOV PIN 1/8 X 5/16 $1.54
APS79 SET SCREW, 8-32 X 3/16 $1.76
B50000101 BP500 CONTROLLER BOARD ASSY. $226.76
B50000102 CONTROLLER BOARD,METRIC $226.76
B50000200 COVER B500 LEFT SIDE $35.05
B500002002B COVER, B500, LEFTSIDE, 2-BUTTON $34.81
B50000201 LEFT COVER ASSY. $323.00
B50000202 ASSY. LEFT COVER BP500 220V/CM $323.00
B50000203 ASSY, LEFT COVER 115V/CM $290.75
B500002M-IJ ASSY. LEFT COVER BP500 220V/CM IJ $415.11
B50000301 BP500 KEYBOARD,INCHES $97.38
B50000302 BP500 KEYBOARD,CENTIMETERS $97.38
B50000400 ROLL GUIDE $17.93
B500004IJ ROLL GUIDE BP500 IJ PRINTER $8.51
B50000501 ASSY,POWER ENTRY PLATE $71.23
B50000600 PLATE,POWER ENTRY- SINGLE FUSE $3.66
B50000700 BRACKET INTERLOCK SWITCH $5.72
B50000901 ASSY,POWER ENTRY-DOUBLE FUSE $71.23
B50001000 PLATE,POWER ENTRY-DOUBLE FUSE $3.66
B50001100 SHAFT,FEED WHEEL $10.53
B50001200 BADGE, BP500 $5.96
B50001401 ASSY,POWER SWITCH $11.93
B50001601 ASSY.INTERLOCK SWITCH $15.84
B50001602 ASSY,INTERLOCK SWITCH W/BRACKET $16.31
B50001701 ASSY. SENSOR $14.70
B50001800 BRACKET,SENSOR $8.66
B50001801 ASSY,LENGHT SENSOR W/BRACKET $21.00
B50001900 INTERLOCK SWITCH GUARD $16.25
B50002101 ASSY, CUTTER $29.20
B50002102 ASSY, CUTTER YOKE $107.95
B500025K CONV.KIT 555S/L TO USE B500 KEY PAD $388.84
B500025LRXK CONVERSION KIT AND FRAME ASSY    $462.88
B50003000 CARTON, BP500 $14.64
B500031K BLADE KIT, BP500 $60.18
B500031K BLADE KIT, BP500 $60.18
B50003200 KEYPAD OVERLAY 2-BUTTON BP500 $12.88
B50003501 SOLENOID SHELF ASSY. 115 V $128.94
B50003502 SOLENOID SHELF ASSY. 220 V $125.26
B50003601 ASSY,BP500 CONTROLLER BRD.W/PI $297.44
B50003601-A ASSY,BP500 CONTR. BRD.W/PI AUTO $297.44

9



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

B50003602 ASSY,BP500 CONTROLLER BRD.W/PI $297.44
B50003800 MOUNTING BAR $5.71
B50004100 SENSOR COVER BP500 AUTO $13.98
B50004301 CABLE ASSY. FOR B500 AUTO $19.67
B500LXXX ASSY,SIDE FRAME LEFT $69.71
BO35 BEARING,OIL LESS OILITE $1.83
BO37   WASHER 7/16 $1.02
BW1/4 THIN BURR WASHER 1/4-20 THIN  PKG OF 5 $1.14
CB48 DRIVE SCREWS $2.97
CB755 CARTON PRINTED $15.72
CB7C RIVET $1.14
CBP333C CARTON FOR BP333 $9.65
CP3SM P3S MASTER 6 $4.56
CP3SS P3S SINGLE CARTON $3.89
CT INK CASE BLA BLACK INK  $35.62
CT INK CASE BLU BLUE INK    $35.62
CT0600115 TYPE DRUM ASSY. 1.5 INCH $122.26
CT0600120 TYPE DRUM ASSY. 2 INCH $133.45
CT0600125 TYPE DRUM ASSY. 2.5 INCH $140.10
CT0600130 TYPE DRUM ASSY. 3 INCH $144.78
CT200415 CT2004 CODETAPER TOP LEVEL ASSY. 15 $451.34
CT200420 CT2004 CODETAPER TOP LEVEL ASSY. 20 $451.34
CT200425 CT2004 CODETAPER TOP LEVEL ASSY.25 $451.34
CT6 333 1 1/2 IN. CT6/333 1 1/2 IN. $570.88
CT6 333 2 1/2 IN. CT6/333 2 1/2 IN. $570.88
CT6 333 2 1/2 IN.-FOAM CT6/333 2 1/2 IN. FOAM ROLLER $570.88
CT6 333 3 IN. CT6/333 3 IN. $570.88
CT6 333 3 IN.-FOAM CT6/333 3 IN. FOAM ROLLER $570.88
CT6 555 1 1/2 IN. CT6 555 1 1/2 IN. $570.88
CT6 555 2 1/2 IN.-FOAM CT6/555 2 1/2 IN. FOAM ROLLER $570.88
CT6 555 2 IN.-FOAM CT6/555 2 IN. FOAM ROLLER $570.88
CT6 555 3 IN. CT6/555 3 IN. $570.88
CT6 555 3 IN.-FOAM CT6/555 3 IN. FOAM ROLLER $570.88
CT6 555E 2 1/2 IN.-FOAM CT6/555E 2 1/2 IN. FOAM ROLLER $570.88
CT6 555E 2 IN.-FOAM CT6/555E 2 IN. FOAM ROLLER $570.88
CT6 555E 3 IN.-FOAM CT6/555E 3 IN. FOAM ROLLER $570.88
CT6 754 3 IN. CODETAPER 6 ATTACH $570.88
CT6 754 3 IN.-FOAM CT6/754 3 IN. FOAM ROLLER $570.88
CT6 755 2 1/2 IN.-FOAM CT6/755 2 1/2 IN. FOAM ROLLER $570.88
CT6 755 2 IN.-FOAM CT6/755 2 IN. FOAM ROLLER $570.88
CT6 755 3 IN.-FOAM CT6/755 3 IN. FOAM ROLLER $570.88
DBP333 WARNING DECAL $0.88
DJ51 SCREW 5/16 X 10-32 $1.14
DU208 SOLENOID CONN. ROD PIN $2.63
E107X BRUSH ASSY $58.56
E111 RANDOM KEY GROUND STRIP $3.23
E112 KEY SWITCH GROUND STRIP $9.44
E113 TERMINAL B-137-08 ON TAPE $1.14
E120 OIL SEAL $6.55
E121 FD. SHAFT OIL. BEARING $1.54
E122 FEED WHEEL SHAFT BUSHING $2.60
E18 TOP HEATER PLATE SPACER $1.78
E25 SCREW, 1/4-20 X 5/16 PHIL $1.14
E500LXXX LEFT FRAME ASSY $136.84

10



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

E500RXXX RIGHT FRAME ASSY $128.55
E501BW BUSS WIRE 10 IN LG $2.97
E501LN KEY SWITCH NUT $3.39
E501LS SCREW, 4-40 X 1/8 SLOT      $1.14
E527 YOKE STOP BAR $9.68
E530 BUMPER PLATE $11.20
E534 SECTOR RETURN SPRING $13.93
E534XL L RETURN SPRING CUP ASY $21.49
E534XS SPRING & CUP ASSY. $21.49
E535A SPRING PLATE WASHER $4.92
E538AXX TRIP ROLLER ASSY $17.80
E540B TRIP ROLLER BEARING $2.48
E546 LOCKWASHER $1.54
E547D KEY DRUM $95.94
E547LEX36 KEY DRUM ASSY. $724.80
E547LEX45 KEY DRUM ASSY. 555L45 $499.05
E547SFX KEY DRUM ASSY $724.80
E550 COMPLETE SOLENOID $94.42
E550X SOLENOID ASSY. $97.33
E551 SOLENOID LINK $2.60
E55500101 ASSY, E555 BD. AUTO, 115V $318.02
E55500102 ASSY, E555 BD, LONG AUTO, 115V $274.98
E55500103 ASSY, E555 BD,METRIC AUTO 115V $280.16
E55500106 ASSY, E555 BD,METRIC AUTO,220V $281.42
E55500201 ASSY,E555 BD, SHORT BASIC 115V $281.42
E55500202 ASSY, 555 BD, LONG BASIC, 115V $268.25
E55500301 SWITCH PAD ASSY. ES $81.41
E55500301-PAD RUBBER PAD W/ NUMBERS-MODEL BP555E $40.91
E55500301-SW SWITCH FOR ALL MODELS $40.91
E55500302 SWITCH PAD ASSY. ESA $81.41
E55500302-PAD RUBBER PAD W/NUMBERS-BP555ESA-EFA $40.91
E55500303 MEMBRANE SWITCH PAD ASSY. EL $81.41
E55500303-PAD RUBBER PAD W/NUMBERS-MODEL BP555EL $40.91
E55500304 MEMBRANE SWITCH PAD ASSY. ELA $81.41
E55500304-PAD RUBBER PAD W/ NUMBERS-MODEL BP555EL $40.91
E55500306 MEMBRANE SWCH PAD ASSY.EMA/EJA $81.41
E55500306-PAD RUBBER PAD W/NUMBERS-MODEL BP555EM $40.91
E55500501 115V SOLENOID ASSY. $104.66
E55500502 220V SOLENOID ASSY. $104.66
E55500503 SOLENOID 100 VOLT $102.28
E5550053 100V SOLENOID ASSY. $104.66
E55500701 TOP HEATER ASSY. $137.49
E55500802 MOTOR DRIVE - 230 VOLT $298.09
E55501001 LEFT FRAME ASSY. $89.42
E55501401 SOLENOID SHELF ASSY. $31.80
E55501501 CUTTER YOKE ASSY. $23.10
E55501700 BRUSH RETAINER $4.45
E55501800 UPPER TAPE GUIDE $14.98
E55501901 VERTICLE TIE PLATE ASSY. $22.50
E55502000 LINK SOLENOID $5.51
E55502300 CONNECTOR PLATE $8.54
E55502301 CONNECTOR PLATE ASSY. $124.34
E55502400 SHAFT TAPE DRIVE $8.93
E55502401 FEED WHEEL ASSY. $50.61

11



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

E55502900 HEATER COVER $20.73
E55503000 COVER,LEFT $35.26
E55503100 COVER,RIGHT $35.17
E55503200 TANK SHELF $9.33
E55503300 WATER TANK $11.68
E55503301 TANK ASSY. $28.36
E55503401 REAR COVER ASSY. $58.54
E55503403 SOLENOID & CUTTER ASSY 100V    $202.64
E55503501 TOP COVER ASSY. $16.17
E55503600 WATER BOTTLE $11.89
E55503700 BOTTLE RETAINER $3.60
E55503800 WATER LEVEL ADJUSTER $2.92
E55503901 BEZEL-BP555ES $16.46
E55503902 BEZEL-BP555ESA $22.27
E55503904 BEZEL-BP555ELA $28.62
E55503908 BEZEL-BP555EJA $28.62
E55504301 SOLENOID & CUTTER ASSY. $202.64
E55504302 SOLENOID & CUTTER ASSY 230V $202.64
E55504303 SOLENOID & CUTTER ASSY 100V    $202.64
E55504401 MOTOR BRACKET ASSY. 115 VOLT $230.12
E55504402 MOTOR BRACKET ASSY. 230 VOLT $357.46
E55504403 MOTOR BRACKET ASSY. 100 VOLT $369.63
E55504501 TOP & REAR COVER ASSY. $73.04
E55504502 TOP & REAR ASSY.(GUM OUT OPT) $76.33
E55504701 RIGHT FRAME ASSY. $99.81
E55504801 SOLENOID SHELF ASSY. 115 VOLT $128.94
E55504802 SOLENOID SHELF ASSY 230 VOLT $137.76
E55504803 SOLENOID SHELF ASSY 100 VOLT $137.76
E55504901 CUTTER YOKE ASSY. $119.13
E55505001 BASKET ASSY. $19.58
E55505100 ROLLER, SUPPORT $1.47
E55505101 ROLLER ASSEMBLY $3.88
E55505200 SHAFT, CUTTER YOKE PIVOT $4.69
E55505300 SHAFT, IDLER PIVOT $9.48
E55505301 IDLER ASSEMBLY $48.74
E55505400 FOOT, BP555E $1.83
E55505500 BADGE $12.81
E55505901 STOP STRAP ASSY. $17.64
E55506000 REAR COVER PIVOT PIN $2.86
E55506101 STATIONARY BLADE ADJ. ASSY. $3.94
E55506301 ROLLER, TAPE LIFT ASSY. $21.58
E55506400 SIDE GUIDE $13.41
E55506500 VIBRATHANE, FEED WHEEL $16.05
E55506801 SENSOR ASSY, 555E LENGTH $21.31
E55506901 SENSOR ASSY, 555E TAPE MACHINE $49.10
E55507001 CABLE ASSY. $44.53
E55507101 SWITCH ASSY, 555E POWER $28.03
E55507400 TUBE, SPRING $6.45
E55507401 SPRING ASSY. $11.64
E55507501 MAGNETIC PROXIMITY SWITCH ASSY $18.42
E55507600 HEATER WEIGHT $13.56
E55507700 CAM,CUTTER LIFT $3.93
E55507800 LINK, CUTTER LIFT CAM $5.96
E55507901 CUTTER LIFT LEVER $13.42

12



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

E55508301 BAFFLE-SAFETY $17.44
E55508302 BAFFLE PLATE-TAB CUTTER $23.89
E55508401 LINK, CUTTER LIFT CAM $13.44
E55508501 LINK, CUTTER LIFT $3.21
E55509000 SPRING,EXTENSION $8.07
E55509705 MASTER CARTON FOR BP555E $16.19
E55509801 ASSY, LIFT ROLLER BRACKET $36.28
E55509900 FRONT COVER - CODETAPER $21.05
E55510401 ASSY, END PLATE $37.25
E55510500 RING CODETAPER $2.06
E55512501 WIRE ASSY $3.11
E55512801 LINE FILTER ASSY. $15.74
E55513201 E555 BRUSH ASSY. $53.71
E55513400 BEARING .188 TWIST LOCK $1.51
E55513600 LOWER HEATER PLATE $6.25
E555136EZ LOWER HEATER PLATE TAB CUTTER $29.47
E55513701 LOWER TAPE PLATE $42.54
E55515000 WHEEL,ENCODER $4.11
E55515401 ASSY, CUTTER WITH - NO TAB $31.56
E55515701 HEATER PIVOT ASSY $3.79
E55515900 PIVOT ROD - OILER $2.60
E55516001 ASSEMBLY, BOTTLE CAP $15.97
E55516100 CAP, BOTTLE $5.86
E55516200 HOLDER, SPRING - BOTTLE CAP $3.82
E55516300 FLAPPER, BOTTLE CAP $1.02
E55516400 GASKET, BOTTLE CAP $1.47
E5551707001 ASSY,GUIDE,TAPE 70 MM WIDE $20.82
E55517200 SEPARATOR, BRUSH - TAB CUTTER $5.32
E55517501 BRUSH ASSY $50.51
E555175TC BRUSH ASSEMBLY $37.74
E55520001  ASSEMBLY, AMD $297.33
E55520100 HOUSING - AMD $14.43
E55520201 ASSY, PCB-AMD MK1 $249.91
E55520301  KEYPAD $7.86
E55520400  SPRING, BUTTON $1.66
E55520500  BUTTON, AMD $3.99
E55520600  SPRING PLUNGER - AMD $0.37
E55520700  PLUNGER - AMD $2.33
E55520801  ASSY, PLATE, BOTTOM - AMD $23.64
E55520901  LABEL,SERIAL NO. - AMD MK1 $2.33
E55521001  LABEL, BETTER PACKAGES-AMD $2.58
E55521100  ESD MASK - AMD SENSOR $6.02
E55521200  PLATE, BACKSTOP $21.05
E55521301   PACKAGING SET, AMD $9.21
E555229K BLADE REPLACEMENT KIT TAB CUTTER $14.46
E55523100 TAB CUTTER BLADE $10.53
E555231KIT 3/4" TAB CUTTER BLADE KIT $16.13
E55523201 ASSY, TAB CUTTER BLADE $62.16
E55523300 SHAFT,TYPE ROLL $4.64
E55523500 SOLENOID SHELF REMOVABLE PLATE $4.22
E55524101 ASSY.ROLLER-PLASTIC $16.01
E55524601 MASTER CARTON & INSERTS FOR 555E $79.83
E55524700 HEX STUD 10-32 THREAD $1.74
E55525801 ASSY, LEFT FEED WHEEL $16.58

13



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

E55526400 WATER BOTTLE FOR BP555E 2 QT.  $18.42
E55526401 KIT-WATER BOTTLE $28.35
E559 MOTOR CHAIN & COVER $42.98
E561PX TANK ASSY $34.39
E563 SCALE 36-6 $7.05
E563L SCALE 15-45 $6.23
E563LX SCALE ASSY 45-15 $9.81
E563SX SCALE ASSY $9.35
E563W SCALE STUD $1.76
E565B SAFETY SWITCH SPRING $7.84
E56GO TIE ROD $3.16
E571A SAFETY SW MTG BRACKET $10.40
E571BX SAFETY SW. BRACKET ASSY $26.79
E575 ACCESS HOLE COVER $14.90
E577 DRUM LABEL SET $15.97
E57AGO ROLL GUIDE SPACER $4.45
E57BGO ROLL GUIDE SPACER $2.97
E57CGO ROLL GUIDE SPACER $2.97
E57GO BASKET ROLLER $3.39
E580 ROD $2.08
E580RAK PIVOT ROD RETAINER   PKG OF 2 $3.14
E580SA PIVOT ROD $4.15
E582 FRONT COVER $35.47
E582-IJ COVER BP500IJ $35.47
E582-IJX COVER BP500IJ $35.47
E582X FRONT COVER ASSY. $38.91
E583 REAR COVER $38.91
E584RAX YOKE BRACKET ASSEMBLY $50.87
E584RAXX CUTTER YOKE ASSY $119.73
E585C CUTTER YOKE SPRING $2.78
E590 SPRING CUP PIN $1.54
E594 SOLENOID PIN $2.08
E596K WASHER, RUBBER SOL CUSH. PKG OF 8 $1.54
E606A FEMALE RECEPTACLE $3.00
E606GX FEMALE RECEPTACLE/HARNESS $40.44
E607A MALE PLUG BODY $7.28
E607EX MALE PLUG/HARNESS ASSY $54.71
E610A PRESSURE PLATE WEIGHT $11.30
E610B PRESSURE PLATE WEIGHT $9.91
E618 BUMPER SUCTION CUP $3.23
E623 CUT.YOKELINK PIVOT SHAFT $3.39
E624 R.CUT. YOKE LINK SPACER $4.30
E625 L.CUT. YOKE LINK SPACER $4.15
E626XXX IDLER & SHAFT ASSY $51.80
E632 IDLER TENSION SPRING $2.14
E634 WIRE NUT 72B $2.69
E634A WIRE NUT 73B $1.54
E635 CABLE CLAMP $2.08
E637 WASHER, .257ID X 3/4 OD $1.54
E640 SOL. LINK FELT WASHER $1.54
E650A-BE BEIGE PLASTISOL CAP $0.43
E650A-GRA GRAY PLASTISOL CAP $2.00
E650AK CAPS SET $23.87
E650A-WH WHITE PLASTISOL CAP $2.00

14



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

E650A-YEL YELLOW PLASTISOL CAP $2.12
E670 MOUNTING PLATE $24.18
E672 MOUNTING PLATE SHAFT $10.40
E676 WIRE CLAMP $1.39
E677 SCREW 10-32 X 7/8 HEX HD $1.14
E686SSK STUD, TANK ANTI-TIP STUD SS, PKG OF 2 $2.95
E687A REAR BRUSH RETAINER $6.21
E690 BOTTOM PLATE $12.33
E695 BUTTON HOLE PLUG $2.46
E714 STRAIN RELIEF $3.39
E715 KNURLED NUT $4.45
E717 SOLENOID LINK $7.91
E718 PLUNGER SCREW $3.54
E90021900K O-RING KIT $64.48
EA12BX RESET SPRING ASSY $8.76
EA2 MAIN PIVOT POST $9.27
EA39AXX TRIP ARM/ROLLER ASSY $58.56
EA39X TRIP ARM ASSY $37.21
EA3BK SAFETY SWITCH BRACKET $4.80
EA42 TRIP ROLLER LOCK SCREW $2.08
EA45 SET SCREW, 8-32 X 1/2 $1.14
EA46A FEED WHEEL SHAFT $28.80
EA46AUXK URETHANE FEED WHEEL KIT $44.90
EA46P FEED WHEEL PIN $1.17
EA47 FEED WHEEL SHAFT PINION $14.34
EA5 SCREW, 1/4-20 X 1/2 SOC $2.46
EA51 GROOVE PIN $1.54
EA52AXX CL.ROLLER/GEAR ASSY $48.36
EA54 CLUTCH ROLLER PIN $1.54
EA56 CLUTCH ROLLER STUD $1.14
EA57 CLUTCH CONNECTING ROD $4.92
EA57X CLUTCH CONN. ROD ASSY $38.06
EA64 CONN. ROD UPPER BLOCK $14.20
EA65 CONN. ROD LOWER BLOCK $15.97
EA66 CL.CONN.ROD PIVOT STUD $0.88
EA69 BLOCK RET. SPRING $6.52
EA70SS 6 X 1/4 PHILIP PAN HEAD SCREW S/S $1.04
EA73 CLUTCH GUIDE $6.52
EA80 TR. LEVER TENS. SPRING $1.82
EA81 TR. LEVER GUIDE BUSHING $2.33
EA82B SWITCH TRIP LEVER $3.23
EL1X INT. GEAR ASSY $40.05
EL3 BUMPER CUP ARM $10.82
EL48X CLUTCH PLATE SUB ASSY $23.65
ELA52XX CLUTCH ROLL $75.76
ELA53 CLUTCH GEAR $20.51
ELA6 CLUTCH ROLLER BEARING $1.47
ES64 GROOVE PIN $1.54
FF111 SW MTG SCREW 3-48 X 5/8  $1.38
FF12B BOTTLE $17.18
FF55XXX TOP HEATER & WEIGHT ASSY. $140.08
FF609AX ASSY,PRESSURE PLATE TOP HEATER $34.30
FF609AX-A ASSY, PRESS. PLATE TOP HEATER BP500 $34.30
FF6100 WATER BOTTLE 46OZ $15.50

15



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

FF6110 BRACKET, REAR $9.91
FF6120 BRACKET, FRONT $10.40
FF612P BOTTLE BRACKET $7.05
FF64 CUTTER YOKE CLUTCH STUD $0.95
FF90 SCREW $3.00
FF91K WASHER, WHEEL BUMPER BR  PKG OF 2 $1.54
FM 101K RETAINING RING PKG OF 2 $1.54
FM100 NUT TINNERMAN $1.54
FM102 NAMEPLATE $2.78
FM107 BLADE HOLDER RIVET $1.14
FM108 STOP BAR $4.45
FM108PX CORD ASSY $35.09
FM108X ROCKER STOP BAR SUB ASSY $9.68
FM110X STOP PLATE SUB ASSY $17.41
FM110XX ST.PLATE/SPRING SUB ASSY $23.65
FM111 PLATE $1.76
FM115 SPIRAL PIN $1.14
FM116 FLANGE BUSHING $1.38
FM117 TIE ROD $6.21
FM118 NUT, THUMB SCREW 10-24 $1.76
FM118X THUMB SCREW ASSY $3.39
FM11ARX PLATE ASSY. $40.44
FM11AX LWR. TAPE PLATE ASY $41.76
FM11AX-A LWR. TAPE PLATE ASY BP500 AUTO $37.96
FM11JX LOWER TAPE PLATE ASSY. $15.94
FM11X LWR TAPE PLATE SUB ASSY $36.16
FM120J PRESS. PLATE $22.63
FM126J LIP $13.87
FM12EL UPPER TAPE PLATE $10.29
FM14 WASHER, .193 X 7/16 $1.14
FM15 SUPPORT ROD $4.38
FM15K ROD & ROLLER $10.07
FM16X PRESSURE PLATE SUB ASSY $34.30
FM17 WEIGHT $3.39
FM18 SHEAR GUIDE ROLLER $2.69
FM18A SHEAR GUIDE ROLLER, WIDE $2.69
FM1FX L.FRAME COMPLETE SUB ASSY - GRAY $131.62
FM20BXK SHEAR KIT $60.18
FM21 STATIONARY BLADE $15.63
FM214AXK KIT, SHEAR ASSY. $68.93
FM21X STATIONARY BLADE ASSY $18.09
FM22L LEFT SHEAR BRACKET $3.54
FM22R RIGHT SHEAR BRACKET $3.00
FM23HD SPRINGS $2.60
FM25B BLADE HOLDER PIVOT PIN $3.68
FM25C BLADE PIVOT PIN $1.19
FM26X ROCKER BUSHING SUB ASSY $34.25
FM26XX ROCKER SUB ASSY $69.02
FM26XXX ROCKER BLADE SUB ASSY $83.57
FM26XXXEZ SUB ASSY.ROCKER BLADE W/TAB CUTTER $64.46
FM2FX R.FRAME COMPLETE SUB ASSY - GRAY $95.94
FM3 LOWER FRONT COVER $19.44
FM30A STRIKER SHAFT $3.39
FM310 ROLL GUIDE, UNIVERSAL $7.90

16



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

FM313 UPPER SHEAR BLADE ASSY, HIGH CLEAR. $25.73
FM31A STRIKER BUSHING $3.92
FM32 ROCKER SHAFT $4.45
FM33AX SPRING HOOK SUB ASSY $7.68
FM34 IDLER SHAFT $7.76
FM39XXX IDLER SHAFT SUB ASSY $37.85
FM3FR LOWER FRONT COVER FOR BP500-555 $19.44
FM4 COVER $23.87
FM40 TANK SHELF GRAY $14.76
FM41FX HANDLE ASSY - GRAY $91.35
FM41XX CRANK PAWL SUB ASSY - GRAY $52.18
FM43 PAWL STUD $1.54
FM44 HUB FOR FM41X HANDLE $3.79
FM46 CRANKSHAFT $10.07
FM46X SHAFT CAM SUB ASSY $26.59
FM48AX SPRING HOOK SUB ASSY $6.82
FM49X SHAFT PINION SUB ASSY $20.64
FM5 COVER $50.11
FM51 WASHER $1.14
FM52AL LEFT   GUIDE $5.55
FM52ALX LEFT GUIDE ASSY $20.99
FM52AR RIGHT  GUIDE $11.69
FM52ARX RIGHT GUIDE ASSY $19.44
FM54 HOOK RIVET $1.14
FM55 ROLL GUIDE HOOK $12.48
FM55PXXX TOP HEATER & WEIGHT ASSY $116.28
FM55PXXXK TOP HEATER KIT $134.70
FM56 SLOTTED TIE ROD $6.07
FM57EX BASKET ASSY. $18.54
FM57X SUB ASSY, BASKET $29.46
FM59X TAPE ROLLER ASSY $6.75
FM61 TIE SCREW $2.60
FM62 SPRING HOOK $0.85
FM64 SPRING $2.46
FM67 PULLEY SHAFT $3.00
FM6A TANK $16.67
FM6AX TANK ASSY $42.98
FM70K HANDLE KIT $11.96
FM71 HANDLE BOLT $4.68
FM73 SCREW 10-32 X 3/4 OVAL $1.94
FM79 SCALE, BP333 PLUS $4.58
FM79C SCALE CENTIMETER,BP333-PLUS $2.46
FM8 COVER BUMPER $2.46
FM80 DRUM-GRAY $25.19
FM90 RIVETS, 3/16 X 1/4" $1.14
FM91 NUT, PM 1/4-20 $1.54
FM94K RETAINING RING    PKG OF 4 $1.54
FM96 SCREW, 10-32 X 1/2 RD PHI $1.14
FM98 RING $1.54
FM99 SCREW, 10-24 X 3/8 PHIL $1.14
GE147 GROOVE PIN 3/16 X 1-1/4 $1.02
GE165 TIE SCREW $1.76
GE76 WASHER BRASS $1.54
GE79X DISC/GEAR SUB ASSY $66.09

17



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

GE94 SPRING STUD $1.54
GS129 BEARING $1.76
K200 SCREW 1/4 X 8-32 RD PHIL $1.02
K200AB BRUSH RETAINER SCREW $1.02
K200D SCREW, 8-32 X 3/8 RD PHIL $1.14
K200EBR 8-32 X 3/8 BRASS PH $1.02
K200FBR SCREW 8-32 X 3/8 BINDING HEAD SCREW $1.14
K201B SCREW 5/8 X 10-32 RD #D $1.14
K201CK SCREW, #10-32 X 1/4" PPH  PKG OF 3 $1.14
K201F SCREW 10-32 X 1 1/8 PHIL $1.14
K205A SCREW, 6-32 X 3/8 PHIL RD $1.14
K206C   SCREW 10-32 X 3/4 PHIL $1.02
K221B BOOT NUT, 10-32 $1.54
K222 NUT, 6-32 HEX $1.14
K222B ELASTIC STOP NUT 6-32 $1.14
K223 HEX NUT, 1/4-20 JAMB $1.14
K223B NUT, BOOT 1/4-20 $1.76
K223S HEX NUT $0.79
K225 SCREW, 10-32 X 1 RD PHIL $1.76
K230 HEX NUT $1.14
K230B NUT, BOOT #8-32 $1.14
K241 NUT, HEX 14-24 STEEL $1.02
K242A HEX NUT 12-24 CRS $1.14
K242AB NUT, LOCK 12-24 $1.54
K243A SCREWS,6-32 X 9/16 RD HD $1.14
K249 SCREW, 12-24 X 5/8 PHIL $1.14
K255 SCREW,8-32 X 5/16 PHIL RD $1.14
K29HL HUB $1.47
K35A 1/32 WASHER 1/32 $1.14
K35A 1/64K WASHER, 7/8 X .515 X .015 PKG OF 2 $1.14
K35B 1/32 WASHER $1.14
K35B 1/64 WASHER 1/64 $1.14
K37 COLLAR & SET SCREW $6.69
K417A HEX NUT 5/16-18 $1.54
K44B PAWL $5.15
K45 SPRING $1.76
K50CR PIN, ROLL 3/16 X 1-1/4 $1.54
L221A WASHER $1.14
L61X BRUSH $39.75
ND105BXK MOTOR BRUSH KIT  PKG OF 2  $16.14
ND105C RETAINING CAP                    $2.46
ND105JX GROUND WIRE ASSY. $7.52
ND114 SPROCKET, MOTOR $21.03
ND114A FEED WHEEL SPROCKET $23.87
ND116 MOTOR CHAIN, LOOP 13-3/4"" $26.87
ND121 MOTOR MOUNT BRACKET $14.90
ND122A SPACER, .193 X 3/4 X 1/8    $1.54
ND125 MOTOR BRACKET WASHER $1.54
P11 BRUSH $19.01
PCPG1A POWER CABLE $31.23
PCPG1AUX POWER CORD ASSY $37.38
PCPG1AX POWER CABLE ASSY. $37.38
PR10 SUPPORT ROD $3.92
PR103  BEARER & RING $68.62

18



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

PR104  BASE LOCK RINGS $4.68
PR105  CLAMPING NUT $34.61
PR12 ALIGNMENT ADJ. ARM STUD $2.94
PR13BCXX PLATEN ROLL ASSY $37.61
PR14 SHAFT SCREWS $3.39
PR15 SHAFT $4.15
PR156 COLLAR & SET SCREW $5.65
PR157 TENSION LEVER BUSHING $1.94
PR158 INK ROLL PIVOT SHAFT $2.78
PR160A15HDX 1 1/2 IN ROLLER ASSY $54.71
PR160A15HDX-FOAM 1 1/2 IN FOAM ROLLER ASSY $60.79
PR160A20HDX 2 IN ROLLER ASSY $54.71
PR160A20HDX-FOAM 2 IN FOAM ROLLER ASSY $54.71
PR160A25HDX 2 1/2 IN ROLLER ASSY. $54.71
PR160A25HDX-FOAM 2 1/2 IN FOAM ROLLER ASSY $54.71
PR160A30HDX 3 IN INK ROLLER ASSY. $54.71
PR160A30HDX-FOAM 3 IN FOAM ROLLER ASSY $54.71
PR160A40HDX 4 INCH ROLLER ASSY. $62.25
PR161 SCREW $1.54
PR165 INK ROLL ADAPTER PLATE L & R SIDE $16.57
PR166 SPRING, INK ROLL TENSION $2.12
PR167L TENSION BRACKET INK ROLLER LEFT $14.20
PR167R TENSION BRACKET INK ROLLLER RIGHT $14.20
PR16X THUMB NUT & SET SCREW $6.44
PR17 L&R EDGE GUIDE SCREW $4.15
PR19M GUIDE ROLLER $25.10
PR19MX GUIDE ROLL ASSY $29.70
PR1LX L.SIDE PLATE ASSY $72.00
PR1LXX FRAME ASSY. $94.49
PR1RX R. SIDE PLATE ASSY $63.16
PR1RXX  RIGHT FRAME ASSY. $86.50
PR200 CRADLE SIDE PLATE $20.17
PR201 REAR TIE ROD $4.68
PR202 PIVOT ROD $7.68
PR203 TIE ROD FRONT $14.47
PR204 SUPPORT SPRING $2.82
PR210 TIE ROD 4"" $9.36
PR211 INK ROLL SHAFT $5.38
PR213 TYPE ROLL SHAFT $3.77
PR215X PLATEN ROLL ASSY $49.67
PR217 PLATEN ROLL SHAFT $5.38
PR218 TAPE GUIDE ROD $9.36
PR219 GUIDE PLATE $18.73
PR22 TYPE ROLL SHAFT $5.94
PR221 ADJ SCREW $5.38
PR222X GUIDE ROLLER ASSY. $19.82
PR23 SPRING LINK $1.76
PR230 PLATE ADAPTOR $7.05
PR231 PLATE ADAPTER SPACER $1.54
PR23X LINK & SPRING ASSY $4.68
PR24 SPRING,ANCHOR $1.54
PR25 SPRING $3.86
PR274TFX 4 IN. TRANSFER ROLL ASSY $52.18
PR27TF TRANSFER ROLL $35.69

19



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

PR27TFX TRANSFER ROLL ASSY. $64.00
PR29 PIVOT SHAFT $9.09
PR294 TRANSFER ROLL PIVOT SHAFT $12.00
PR3 EDGE GUIDE $9.80
PR30 ADJUSTING SCREWS $6.82
PR300X ASSY.CRADLE 555E $37.95
PR310K KIT,CT6 MOUNTING FOR 555E MACHINES $18.79
PR311K KIT,CT6 555 TO CT6 555E CONVERSIONS $47.50
PR3LX L. EDGE GUIDE ASSY $16.57
PR3RX R. EDGE GUIDE ASSY $16.57
PR3XX L&R EDGE GUIDE ASSY $37.85
PR4 FRONT TAPE GUIDE PLATE $6.75
PR5X ADJ. SECTOR&BUSHING ASSY $35.44
PR6 REAR TAPE GUIDE PLATE $16.97
PR7 ARM $8.93
PR8X YOKE ASSY $30.54
PR9 TIE RODS $4.30
PS23A ROLLER $3.23
PS24A BRUSH, NYLON $17.22
PS25AXX TAPE PLATE SUB ASSY $44.59
PS2A02000 CARTON,PS2A $4.80
PS2A101 COVER $42.55
PS2A103CE KEYBOARD, LOWER BOARD, CE $3.09
PS2A104CE PS2A KEYBOARD MEMBRANE $36.54
PS2A106 CONTROL KNOB $2.92
PS2A107 REEL UNIT FOR PS2A $11.91
PS2A109CE COVER ASSEMBLY W/KEYBOARD $108.62
PS2A111 TRANSFORMER 110 VOLT $17.53
PS2A112 TRANSFORMER 220 - 240 VOLT $17.53
PS2A115 BASE PLATE $58.45
PS2A118 POWER SWITCH $7.31
PS2A121 FUSE HOLDER $7.31
PS2A136 ROLLER UNIT FOR PS2A $22.36
PS2A138 SEPARATING ROLLER RING FOR PS2A $1.95
PS2A154 PRESS ROLLER $7.15
PS2A155 PRESS ROLLER COLLAR $2.92
PS2A187 CUT MOTOR FOR PS2A $13.15
PS2A205CE POWER CORD W/PLUG 220V-240V $29.22
PS2A205US POWER CORD W/PLUG 110V $11.67
PS2A254/5 BLADE KIT,PS2A $52.60
PS2A258 PS2A CUTTER LINER (RIGHT) $1.39
PS2A259 PS2A CUTTER LINER (LEFT) $1.39
PS2A2938 FUSE $2.92
PS2A312 FEED ROLLER 2 $29.20
PS2A403 FLAT GEAR 15 FOR PS2A $1.22
PS2A418 GEAR UNIT COMPLETE ASSY $29.20
PS2A423 FLAT GEAR 13 FOR PS2A $1.57
PS2A424 FLAT GEAR 14 FOR PS2A $1.17
PS2A427 FEED ROLLER GEAR 3 $2.92
PS2A430 SEPARATING ROLLER GEAR FOR PS2A $1.57
PS2A431 GEAR CUTTER 2 UNIT FOR PS2A $1.74
PS2A435 FEED MOTOR FOR PS2A $14.91
PS2A503 BRACKET,SEPARATING ROLLER HOLDER $1.29
PS2A504KB KEYBOARD $46.41

20



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

PS2A504PCB PRINTED CIRCUIT BOARD ASSEMBLY $174.09
PS2A505 DISPLAY BOARD $217.70
PS2A505CE CIRCUIT BOARD, CE $217.70
PS2A506 PS2A PRINTED CIRCUIT BOARD ASSEMBLY $65.05
PS2A506CE PS2A CE DISPLAY BOARD $65.05
PS2A509CE PS2A CE DISPLAY BOARD CABLE $14.61
PS2A518 ASSY, FRONT HOLDER $58.43
PS2A523 CUT LEVER UNIT FOR PS2A $4.73
PS2A526 OPEN SET FOR PS2A $1.26
PS2A528 PINION GEAR UNIT 2 $2.92
PS2A533 ASSY, SEPARATING ROLLER HOLDER $42.47
PS2A550 AUTO FEED CUTTER UNIT FOR PS2A $89.43
PS2A-551 SCREW M3 X 8MM LG FLAT HD PHIL $0.52
PW107A BRUSH $19.50
PW107AK  BRUSH KIT  PKG OF 2 $40.91
PW134 GROOVE PIN $1.76
PW150 SCREW, 6-32 X 3/4 PHIL $1.14
PW17NK RIVET 3/16 X 3/8     PKG OF 2 $1.14
PW35B BUMPER $4.15
PW5A SOLENOID SHELF $14.90
PW77CX   FEED WHEEL ASSY $35.22
PW77X FEED WHEEL/SCREW SUB ASSY $26.56
SA10 FELT BRACKET $5.00
SA10X FELT/BRACKET ASSY $9.75
SA10XXK FELT & BRACKET KIT $19.63
SA11 FELT $2.42
SA13 WIRE SPRING $1.76
SCRPH044004KP SCREW PAN HEAD #4-40 X .25 SEMS $0.79
SK24G RUBBER GROMMET $1.76
SP10 ROLLER $2.89
SP11 ROLLER $2.89
SP14A GROOV PIN $1.94
SP21A PLASTIC TANK $25.07
SP21AX PLASTIC TANK ASSY $36.54
SP23 BRIDGE PLATE $13.21
SP24X KNIFE ASSY. $22.59
SP4 FLOOR PLATE $12.88
SP5 SLOT PLATE $14.20
SP6 GUIDES $10.68
SP7 ROLLER $4.68
SP8 ROLLER $3.64
SP9 LEFT ROLLER $3.00
SSC12 TANK COVER $15.36
SSC13 COVER ROD $2.01
ST1068K NUT, 4-40 KEP  ZPS  PKG OF 2 $0.72
ST113 SWITCH SINGLE POLEW/INDICATOR LIGHT $14.34
ST114 MOMENTARY SWITCH $28.79
ST115 TERMINAL $3.23
ST116 PARALLEL CONNECTOR $3.00
ST1453 SCREW, RD HD 3-48 X 1/4 $1.24
ST1454 CLIP, SPEED FASTENER-755 $2.60
ST1463 VARISTOR 150V BP 755 $7.61
ST1464 VARISTOR 240V 50HZ $6.21
ST1502 SCREW 4-40 X 1/2 $1.14

21



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

ST156 TRUARC RING $3.86
ST1592 STANDOFF $2.92
ST1593 SCREW 10-32 X 1 1/4 $1.14
ST1596K SCREW #4 3/8 PHIL PKG OF 2 $1.14
ST1613 PHOTOTRANSISTOR,NPN $11.89
ST1614 DIODE, IR EMITTING $9.33
ST1615 POTENTIOMETER,500K OHMS $24.27
ST1616 POTENTIOMETER,100K 2W 10% $26.31
ST1619 KNOB,1.42"",1/4 $15.98
ST1620 KNOB CAP, BLACK (ST1619) $6.04
ST1621 SWITCH,SLIDE 2P3T $7.80
ST1622 CAP,GLAMOUR (ST1621) $2.63
ST1623 CAPACITOR BOOT $7.28
ST1628 BUSHING, STRAIN RELIEF $2.78
ST1645 NUT, BOOT 4-40 $1.14
ST1649 SCREW, 6-32 X 1/2 PAN HD, PHIL $0.15
ST1650K RIBBON CABLE MOUNTS. FCM2 PKG OF 2 $5.82
ST1651K BUMPER W/WASHER 1311  PKG OF 3 $11.42
ST1652 DRIVE RIVET $1.78
ST1685 TERMINAL,22-18AWG RTANGFL $1.77
ST1753K E-RING, EXT. .093 X .015 T  PKG OF $0.48
ST190K CABLE TIE 4" LG  PKG OF 2 $1.14
ST1949 SCREW, #10-24 X 3/8 $1.09
ST1965 WASHER, FLAT, #8, .06 THICK $1.04
ST1989 SWITCH, DPST, ROCKER, 250V $19.96
ST1997 LINE FILTER, 2 AMP $41.67
ST1999 BUSHING, HEYCO #2871 $0.52
ST2000K TERMINAL SIZE 22-18    2 PER KIT $1.55
ST2003K TERMINAL,QUICK DIS, FEM, PKG OF 2 $1.55
ST2004 POWER CORD $13.29
ST2011K SCREW, 10-32 X 3/16"" PPH  PKG OF 3 $0.60
ST2128 FUSE, 5X20MM, 0.5A, SLO-BLO $3.46
ST222 NUT, 3-48 1/16 HEX, ZINC $1.14
ST227 SCREW $1.76
ST2297 SWITCH, POWER, W/GREEN LIGHT $13.58
ST2301 FILTER, AC INPUT, PANEL MOUNT $27.69
ST2312 STUD,PEM,STAINLESS STEEL 8-32X3/4" $0.63
ST2313 THERMOSTAT A-154 $9.12
ST2315 SCREW,KIT,FEM,BD CONN. LOCKS $9.08
ST2321 FUSE HOLDER, 5X20 MM, SOLDER $8.34
ST2330 WASHER, NYLON SHOULDER $1.07
ST2331 SCREW, THREAD CUTTING,8-32X1/2 $1.02
ST2336-555  IC,PIC16C63A,4MZHZ,28 PIN DIP $19.44
ST2337 E-RING, EXTERNAL, 3/16 $0.15
ST2339 SCREW, #8 X 1/2, TYPE B $0.15
ST2341K FUSE, 4A,5MM X 20MM, SLO  PKG OF 2 $1.71
ST2344 PERMANENT MAGNET, PLUG $3.24
ST2345 TRUARC RING, EXTERNAL, 3/8 $0.22
ST2346 BUSHING, SNAP, .687""ID $0.20
ST2359 PLUG, 2 PIN, 5.08MM, CRIMP $1.45
ST2360 PLUG, 3 PIN, 5.08MM, CRIMP $1.95
ST2361 PLUG, 4 PIN, 5.08MM, CRIMP $2.12
ST2362 CONTACTS, TIN, AWG20-18 $1.38
ST2366 WIRE, SILICONE INSUL, #22 AWG $1.57

22



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

ST2435 SCREW#8-32 X 2.750 PHIL PAN HD $0.77
ST2440 SCREW, 4-40 X 1/4 PHIL PAN HD $0.31
ST2490 FUSE, 2A,5MMX20MM,SLO-BL0,250V $1.63
ST2491 SCREW,#8-32 X 2.25 PHIL PAN HD $0.77
ST2492 SCREW,#8-32 X 2" PHIL PAN HD $0.77
ST2493 SCREW,#8-32 X 1.25 PHIL PAN HD $0.77
ST2528 WASHER, FENDER - FLAT $0.95
ST2529 SCREW, #6X.50 LG, TYPE B, SS $0.12
ST2531 CABLE, 9 PIN MALE/FEMALE, 10FT $18.73
ST2549 POWER SUPPLY, 24V - 30 WATT $147.53
ST2590 SPACER, SHAFT $1.99
ST2612 BUMPER, RECESSED $1.13
ST28 MACHINE SCREW $1.14
ST2854 SPRING. COMPRESSION TAPERED $3.13
ST2869 BEARING,FLANGED .25 BORE X .25 LG. $3.16
ST2873 PANEL PLUG .406' HEIGH X .656' $3.68
ST2875 THERMOSTAT,160F 115V $13.14
ST2876K SCREW PLASTITE #8 X 3/8" PPH  PKG 6 $1.58
ST2881 ACORN NUT 1/4-20 SCREW $1.04
ST2882 KEPS NUT 1/4-20 SCREW $0.32
ST2888K KEPS NUT 10-32 NUT PKG 2 $1.14
ST2889 BRONZE BEARING $2.91
ST2890 KEPS NUT,10-24 $1.13
ST2895 WASHER,WAVE SHAPE SPRING .530 DIA $1.06
ST2897 SCREW #4-40 X 5/8 PAN HD PHIL $1.04
ST2899 BUSHING HEYCO 1.OO MTG HOLE $4.03
ST2912 POWER CORD IEC320,13A ENG, SING $32.86
ST2920 THERMOSTAT,160F 230V SNAP ACTION $19.86
ST2924 SCREW,#10-24 X 1 1/4 FLAT HD PH ZPS $0.50
ST2929-KIT HEATER KNOB KIT $3.86
ST2935 STRAIN RELIEF FOR L36-2 BUTTON $1.14
ST2938 FUSE, 5 X 20MM 1A (110V) $3.35
ST2943 FUSE, 5 X 20MM 1.5A (220V-240V) $2.92
ST2944AL6MLK2A PUSH BUTTON SWITCH LENS, AMBER $7.72
ST2944AL6MLK2G PUSH BUTTON SWITCH LENS, GREEN $7.72
ST2944AL6MM100 PUSH BUTTON SWITCH OPERATOR $19.33
ST2946 SCREW #10-32 X 7/16 LG SOCKET HDCAP $1.14
ST2950 SCREW,#8-16 X 1/2 LG PLAS PAN HD PH $0.17
ST2951 POWER CORD, 10 AMP 250V,7.0MM O.D. $32.86
ST2952 CAPACITOR, 10 UF 370 VAC $16.11
ST2953 CAPACITOR, 15 UF 370 VAC $16.09
ST2954K NUT ACORN #6-32 NP   PKG OF 4 $1.14
ST2955 WASHER,SERRATED BELLEVILLE #10 $1.54
ST2964 SCREW 10-24 X 1/4 PAN HD PHIL SEMS $0.17
ST2965 SCREW, #4-40 X 1" LG BUTTON HD SOC $1.09
ST2966 SCREW, #4-40 X 1/8 BUTTON HD SOC $1.09
ST2976 THUMB SCREW #8-32X1/4 LG.S/S THRDS $1.76
ST2978 CORRAGATED LOOM TUBING/ BLACK $4.64
ST2989 THUMB SCREW #10-32 X 3/8 LG THRDS $6.32
ST300 CONTACT METHODE CRIMP $1.14
ST3247 STANDOFF HEX M4 THRD 12MM LONG $0.15
ST3248 SCREW #6-32 X 1 1/2" LG PHP $0.15
ST3260 MAGNETIC REED SWITCH $6.45
ST3261 MAGNET, FLANGE MOUNT $8.47

23



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

ST3269 ALLEN WRENCH 3/32" LONG $7.25
ST3270K SCREW #6-32 X 3/8 PPH S/S PKG OF 2 $0.60
ST3271K SCREW #6-32 X 3/8 LG PTC PKG OF 2 $0.97
ST3274K SCREW 6-32 X 9/16 LG PFHS/S PK OF 2 $1.14
ST3275 CABLE 2 COND. 22 AWG SHLD $3.07
ST3276 SWITCH PUSH BUTTON MOMENTARY $27.33
ST3277 CONNECTOR 2 PIN 1" SP LOCKING $0.60
ST3278 O-RING ID 1/2" OD 5/8" THK 1/16" $0.36
ST3279 LINE FILTER SNAP-IN 1/4" TERMINALS $27.26
ST3285 SPRING PIN SLOTTED 3/23 X 9/16 $0.60
ST3288 SPLICE, CLOSED END 12-22 AWG $0.60
ST38 COTTER PIN 3/32 X 1-3/4 $2.00
ST39 PIN, HINGE 3/32 X 1/2 $1.14
ST48 PULLEY,TIMING BELT(SMALL) $40.98
ST484 LINE CORD BELDON 17250 $10.17
ST489 SCREW, 6-32 X 1/2 PAN HEAD $0.85
ST49 PULLEY,TIMING BELT(LARGE) $38.01
ST492K NUT, 6-32 KEP   PKG OF 2 $1.14
ST493 SCREW 4-40 X 3/8 PHIL $0.72
ST51 TIMING BELT $26.10
ST828 2 PIN FEMALE MOLEX 2139 $0.32
ST829 CRIMP TERM TYPE 2578 $2.31
ST831 TRANS SOCKET $9.05
ST834 MOTOR CAPACITOR 115 VOLT $39.15
ST835 CAPACITOR,4 UF,370 VAC 230 VOLT $36.77
ST836 CAPACITOR BRACKET $5.75
ST837 FUSE HOLDER $8.60
ST838 FUSE CARRIER 031.1666 $5.44
ST839 FUSE CARRIER 031.1663 $4.83
ST841 FUSE 2 AMP SLOW BLOW $2.78
ST844 GRIP RING TRUARC $1.22
ST847 SCREW #6 X 1/2 LONG $1.14
ST849K SCREW 10-32 X 3/4  PKG OF 4 $1.14
ST850K SPACER, .190 X .375 X .062  PKG OF 2 $0.93
ST851K SPACER, .190 X .4375 X .062 PKG OF 2 $1.14
ST853 RUBBER BUMPER $1.31
ST857 FLEXIBLE GROMMET $3.92
ST862 SCREW, 4-40 X 3/8 PHIL FL $0.76
ST878 PIN SPIRAL 1/8 X 1-1/4 $1.02
ST879 DIODE, 1000PIV IN4007 $1.30
ST882 FUSE, SLO-BLO 25V 4A 3AG $6.28
ST888 CABLE TIE MOUNT $1.76
ST893 KNOB, BRASS 8-32 X 7/16 $5.56
SX49AK WASHER .32 X 9/16 X 1/32 PKG OF 2 $1.54
SX49B T7XWASHER, 9/16 X 1/64 $1.54
T1A OILITE BEARING $1.65
T35Z LINK $3.45
T3C RIVETS    $1.02
TAPECULATOR 755 TAPECULATOR 45 IN. -BP755 $36.76
TC30XX TAPE AERIAL E ASSY $124.64
TC38 SPOOL SPACER $1.35
TC40 CREASING SPOOL $12.80
TC41 ROLLER SHAFT $3.79
TC42 SPACING WASHER $1.35

24



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

TC44A MOUNTING BRACKET $16.14
TC45 WING NUT $1.55
TH101 TOP HEATER HOUSING $10.07
TH102 ADJ. KNOB W/SET SCREW $5.38
TH103 NAME PLATE $4.45
TH103H TOP HEATER LABEL $1.60
TH104 THERMOSTAT SPACER $2.38
TH105 STRAIN RELIEF BUSHING $1.94
TH107XX HEATER PLATE & TER.ASSY $26.20
TH107XXK KIT, HEATER PLATE & ELEMENT $47.20
TH108 CORD SET-SHORT $6.32
TH108EX CORD SET ASSY, 'CE' $10.51
TH108PX SHT CRD & TERM ASSY/W PLG $28.79
TH108UX CORD SET ASSY $9.32
TH108X SHORT CORD ASSY $12.35
TH109K FLAG TERMINAL FEMALE   PKG OF 2 $0.60
TH110 FLAT HEAD SCREW $1.14
TH116 SCREW, 7/16 X 10-32 BRASS $1.14
TH150XX ASSY, TOP HEATER - TS150 $120.27
TH207X HEATER PLATE ASSY 230 V. $39.30
TH207XXK HEATER PLATE KIT $47.44
TH550PXX HEATER ASSY. (220 V.) $107.46
TH550PXXX TOP HEATER ASSY. (220 V.) $200.32
TH55LXXX TOP HTR & WEIGHT ASSY. $138.95
TH55LXXX-230 ASSY. TOP HEATER W/WEIGHTS $138.95
TH55LXXX-A  TOP HTR & WEIGHT ASSY. BP500 AUTO $138.95
TH55PXX TOP HEATER ASSY $112.78
TH55PXXXK HEATER ASSY. $131.62
TH55XX TOP HEATER ASSY. $112.78
TH55XXX TOP HEATER ASSY. $138.15
TMM-001-00 OUTER BODY $28.04
TMM-002-00 INNER BODY $28.33
TMM-004-00 TOP COVER $14.17
TMM-005-00 FEED HANDLE $2.43
TMM-006-00 HANDLE LINKAGE $3.76
TMM-007-00 HANDLE LINKAGE $4.15
TMM-008-00 CRANK HANDLE WITH GEAR $8.44
TMM-009-00 FEED WHEEL $10.55
TMM-010-00 PINION GEAR $1.22
TMM-011-00 BLADE, STATIONARY $6.98
TMM-012-00 IDLER WHEEL $3.40
TMM-013-00 IDLER CUTTER PIVOT $4.22
TMM-015-00 BLADE MOVING $7.87
TMM-016-00 BEARING CLUTCH $7.73
TMM-017-00 SHAFT, FEED WHEEL $11.27
TMM-018-00 PRESSURE PLATE $4.86
TMM-019-00 WATER TANK TOP $3.15
TMM-020-00 CUTTER RETURN SPRING POST $3.51
TMM-021-00 SHAFT BUTTON BASE $2.58
TMM-023-00 SPRING CUTTER RETURN $0.89
TMM-025-00 TORTION SPRING R, PRESSURE PLATE $0.82
TMM-026-00 TORTION SPRING L, PRESSURE PLATE $0.86
TMM-027-00 PIN, DOWEL FEED HANDLE $3.29
TMM-028-00 SHAFT, CUTTER $2.68

25



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

TMM-029-00 TAPE ROLLER $6.62
TMM-030-00 PRESSURE PLATE MOUNT $3.29
TMM-033-00 SHAFT, BLADE PIVOT $2.33
TMM-034-00 CLUTCH BEARING HOLDER $1.29
TMM-035-00 LATCH, WATER TANK $8.05
TMM-036-00 GEAR SUPPPORT $7.51
TMM-037-00 LATCH BRACKET $3.22
TMM-038-00 FEED HANDLE BASE $2.50
TMM-039-00 SPRING, NIP FORCE $2.43
TMM-040-00 GEAR BRACE $3.40
TMM-041-00 FOOT PAD $1.36
TMM-042-00 FEED HANDLE BACKER $2.15
TMM-045-00 CUTTER HANDLE BASE $3.43
TMM-046-00 CUTTER HANDLE TOP $3.40
TMM-047-00 SHAFT BRACKET, LEFT $1.14
TMM-049-00 WATER TANK $14.13
TMM-071-01 TANK ASSEMBLY $17.28
TMM-074-00 LABEL,S/N-ID,BP222 $0.00
TMM-075-00 UPPER TAPE PLATE $2.68
TMM-100-00 BP222 CARTON AND INSERTS #VALUE!
TO105K SCREW 10-32 X 3/8 PHIL  PKG OF 2 $1.14
TO175A HEATER PLUG $27.40
TO256 SCREW,1/4-20X1/2 RD HD, PHIL. $1.14
TO266 SCREW, 6-32 X 1/4 PHIL RD $1.14
TS150/UNI101 INSERT D/C 275 DW 22 1/8 X 49 $15.41
TS3300101 TOP HEATER ASSY TS333 $170.99
TS3300601 PRESSURE PLATE ASSY. $13.15
TS3300602 PRESSURE PLATE ASSY. $19.34
TS3302101 ASSY, PIVOT, PRESSURE PLATE $13.58
TS3303201 SAFETY BAFFLE $31.11
TS3303201-A SAFETY BAFFLE PLATE BP500 AUTO $31.11
TS330A PIVOT STUD $3.00
TS342B BEARING $2.38
TS342R CL. ROLL. GEAR BEARING $1.36
TS348A HEX NUT 3/8-16 $0.20
TS375B KNOB $1.94
TS37K BRUSHES  PKG OF 2 $48.81
TS415 SCREW,3/4 X 1/4-20 $1.04
TS426A WASHER $1.54
TW24EB WEIGHTS $2.85
WK0K RETAINING RING, 3/16"SHAFT PKG OF 2 $1.54
WK1 RET. RING $1.54
WK1S RETAINING RING $1.54
WK1S RETAINING RING $1.54
WK2 RET. RING $1.54
WK20 RETAINING RING $1.54
WK3 RETAINING RING $1.54
WK7 RETAINING RING - (?=BI4 1FA) $1.54

Interpack Part Number Description List Price
UF1828 FW M6 $1.11
UF3147 SS SHCS M5 X 10MM $3.70
UF3180 SS SHCS M6-1 X 25MM $4.07
UF3183 SS SHCS M6-1 X 12MM $2.76

26



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

UF3274 SS FHCS M4 X 8MM $1.29
UF3276 SS BHCS M5 X 6MM $1.99
UF3283 SS BHCS M5 X 10MM $2.92
UF3284 SS FHCS M5 X 16MM $1.21
UF3391 SS NYLON LOCK NUT M6-1.0 $0.54
UF3553 SS RETAINING RING 5/32; 4MM $1.01
UF3638 SS HEX NUT REG M6-1 $1.99
UF3707 FW M3 $0.40
UF3714 FHCS M4-0.7 X 12 $2.98
UF3718 M3 L.W. $0.99
UF3749 SS LW M4 $1.11
UF3751 SS HHCS M6-1 X 16MM $2.62
UF3801 SS SHCS M4-0.7 X 12MM $2.86
UF4009 CARRIAGE BOLT 1/4-20 X 1/2" $0.36
UF4112 HEX NUT M3 $1.11
UF4237 HEX NUT M4-0.7 $1.11
UF4324 SS NYLON LOCK NUT M4 $1.91
UF4325 SS BHCS M4-0.7 X 12MM $2.38
UF4508 SS SSS M4-0.7 X 8MM $2.68
UF5601 BHCS M5 X 0.8 X 6 LG $3.82
UF5608 WASHER TEFLON 13ODX8.5IDX0.5T $10.14
UF5900 NYLON LOCK NUT M6-1.0 $0.70
UF6305 FHCS M5 X 0.8 X 10MM $2.98
UF6307 HEX NUT M5-0.8 $0.36
UF6312 FHCS M3-0.5 X 8 $1.99
UF6338 SS FW M3 $1.11
UF6339 SS FW M4 $1.11
UF6340 SS FW M5 $1.11
UF6341 SS FW M6 $1.11
UF6351 SS FHCS M4-0.7 X 6MM $0.56
UF6364 SS BHCS M4-0.7 X 10MM $2.38
UF6374 BHCS M4-0.7X6 $0.99
UF6385 BHCS M3 - 0.5 X 6 $2.38
UF6389 NYLON F.W. 10.6 X 16 X 0.5 MM $10.14
UF6401 SS SHCS M3-0.5 X 8 $1.91
UF6411 SS LW M6 $0.97
UF7000 SS PHS M5X25MM $3.93
UF7001 SS SHCS M6-1X40MM $3.28
UF7002 SS SHCS M6-1X50MM $3.82
UF7003 SS SHCS M5-0.8X12MM $2.50
UF7004 SS SHCS M4-0.7X30MM $2.86
UF7005 SS SHCS M4-0.7X16MM $2.50
UF7006 SS HEX NUT M4-.07 $2.50
UF7007 SS HEX NUT M5-0.8 $2.50
UF7008 SS BHCS M4-07X6MM $1.67
UF7009 SS BHCS M4-0.7X8MM $1.75
UF7011 SS BHCS M5-0.8X12MM $2.68
UF7012 SS FHCS M5-0.8X8MM $2.68
UF7013 SS SSS M5X5MM $3.28
UF7014 SS NYLON LOCK NUT M10-1.5 $4.97
UF7015 SS REG FW M10 $2.68
UF7016 SS THREAD ROD M6-1.0X20 $4.97

27



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

UF7017 SS EXT. RET'G RING 12MM $6.96
UF7019 SS E EXT. RET'G RING 10MM $4.17
UF7020 SS E EXT. RET'G RING 6MM $5.07
UF7021 SS LW M5 $1.11
UF7022 SS EXT. TOOTH LW M5 $1.11
UF7030 BRASS WASHER 5.18X12X.28MM THK $1.47
WET0002 WE FRAME LEFT SIDE $99.36
WET0003 WE HEATED WATER POT $38.12
WET0008 WE LEFT SIDE COVER $49.68
WET0009 WE RIGHT SIDE COVER $138.61
WET0010 ON OFF SUPPLY PANEL $96.38
WET0013 ACC $34.28
WET0014 WE DETECTOR SWITCH $61.57
WET0015 DOUBLE SIDE MOTOR $292.13
WET0016 MOTOR MOUNT PLATE $45.21
WET0018 KEY PAD $47.99
WET0020 POWER SOCKET $62.10
WET0021 WAT CIRCUIT BOARD $375.59
WET0022 WE SPROCKET WHEEL DRIVEN $36.76
WET0023 WE SPROCKET GEAR $23.85
WET0024 DRIVE BELT $29.81
WET0025 THERMAL COUPLE $18.63
WET0026 SOLENOID $89.43
WET0028 START UP / SHUT OFF SWITCH $78.28
WET0029 PHOTO EYE SOCKET $28.39
WET0032 PHOTO ELECTRIC SENSOR $293.12
WET0033 INLINE 3 PIN FEMALE CONNECTOR $9.89
WET0035 WT HEAT SENSOR $101.91
WET0038 KEYPAD COVER $253.77
WET0063 WEIGHT, REDUCED $13.51
WET0070 DISK, NYLON $25.60
WET0076 HEATER PAD $74.52
WET0077 212F AUTO RESET NGT THERMOSTAT $46.96
WET0080 OMRON BASIC SWITCH $11.82
WET0083 WARMING TRAY $64.59
WET0084 DEWAT MAN RST 210F THERMO SW $79.49
WET0087 3/8"D, 1/4" THICK ROUND MAGNET $10.59
WET0088 CHERRY ACTUATOR MAGNET FLANGE $13.51
WET0089 CHERRY PROX REED SWITCH $17.29
WET0113 10K SURFACE MOUNT THERMISTOR $133.84
WET0115 M5 MEDER REED SENSOR $59.92
WET0116 L-COM CAT 5E PANEL MOUNT RJ45 $45.61
WET0117 CONN POWER MODULE $189.39
WET0133 KEYPAD LABEL WAT INTERIM $14.56
WET0133 KEYPAD LABEL WAT INTERIM $14.56
WPT0001 WT FRAME RIGHT SIDE $69.55
WPT0002 FLANGE BEARING 8MM $25.73
WPT0003 OILITE BEARING  16MM $2.99
WPT0004 OILITE FLANGE BEARING 10 MM $4.31
WPT0005 WT FOOT $1.39
WPT0006 WT BUMPER $9.74
WPT0007 WT SPACER BAR. $6.05
WPT0008 WT EXT SPRING $1.81
WPT0009 WT ROLLER SHAFT $5.56

28



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

WPT0010 WT DOUBLE GEAR SHAFT $18.30
WPT0011 WT SCALE $4.52
WPT0012 WT FRAME LEFT SIDE $69.55
WPT0013 WT BOTTLE $28.71
WPT0014 WT DUCK BILL VALVE $6.76
WPT0015 WT DOUBLE THREAD SCREW $13.22
WPT0016 WT RIGHT SIDE GUIDE $18.08
WPT0017 WT LEFT SIDE GUIDE $18.08
WPT0018 WT ARM $39.31
WPT0019 WT HANDLE $16.69
WPT0020 WT GEAR 80T, 120MM DIA $19.75
WPT0021 WT BEARING HOUSING $14.61
WPT0022 WT ONE WAY BEARING $24.54
WPT0023 WT EXT. SPRING $5.01
WPT0024 WT WATER POT $39.31
WPT0026 WT TAPE GUIDE $14.61
WPT0027 WT PIVOT SHAFT $11.69
WPT0028 WT PRESSURE PLATE $14.61
WPT0029 WT WEIGHT $9.74
WPT0030 WT COVER $29.42
WPT0031 KNURLED NUT $9.74
WPT0032 WT STOPPER WASHER $1.05
WPT0033 WT PINCH ROLLER SUPPORT $10.43
WPT0034 WT PINCH ROLLER $26.43
WPT0035 WT PINCH ROLLER SHAFT $8.35
WPT0036 WT CUTTER BLADE PIVOT SHAFT $16.69
WPT0037 ORDER WPT0036 $6.26
WPT0038 WT DRIVE ROLL $84.36
WPT0039 WT DRIVE ROLL GEAR $5.56
WPT0040 WT DRIVE ROLL SHAFT $8.35
WPT0041 WT DRIVE ROLL PIVOT SHAFT $24.34
WPT0042 WT WASHER $3.48
WPT0043 WT TAPE GUIDE SUPPORT $25.73
WPT0044 WT STRIKER PLATE $95.39
WPT0045 WT TAPE GUIDE $36.17
WPT0046 WT KNIFE ARM RIGHT SIDE $22.95
WPT0047 WT KNIFE ARM LEFT SIDE $13.22
WPT0048 WT KNIFE PIVOT SHAFT $9.04
WPT0049 WT CUTTER BLADE SUPPORT $6.96
WPT0050 WT CUTTER BLADE $89.43
WPT0051 WT CUTTER BLADE LOCK PLATE $2.44
WPT0052 WT REINFORCEMENT PLATE $75.02
WPT0053 WT EXT SPRING 14.75 COILS $7.31
WPT0054 WT BRUSH SPACER $1.04
WPT0056 WT HINGE $1.39
WPT0057 WT BOTTLE LOCATOR $12.52
WPT0058 WT BOTTOM PLATE $19.48
WPT0059 BOTTOM PLATE REAR $19.48
WPT0060 WT TOP COVER $34.78
WPT0061 WT FEED ROLLER $22.02
WPT0062 WT FEED ROLLER PIVOT SHAFT $4.17
WPT0063 WT UPPER GUIDE PLATE $16.69
WPT0064 WT STOPPER $13.91
WPT0065 WT SPACER $2.78

29



BETTER PACKAGES PARTS PRICING
Better Packages, Inc. & Intertape Polymer Group (IPG)

WPT0066 DNU SEE WPT0084 DBL GEAR METAL $6.05
WPT0067 WT BRUSH POT LOCATOR $8.35
WPT0068 WT TAPE ROLL ROLLER $9.74
WPT0069 WT WASHER $7.31
WPT0070 WT PLASTIC PLUG $0.70
WPT0071 WT EXT SPRING C/W HOOK $10.08
WPT0072 SS E EXT RETING RING 16MM $2.44
WPT0073 SS EXT. RET RING 16MM $1.11
WPT0074 WT MOISTENING BRUSH $173.88
WPT0077 WT KNIFE ARM BLOCK $91.33
WPT0078 MAGNET CONNECTING PART $131.46
WPT0079 MAGNET CONNECTING SHAFT $19.14
WPT0083 WT TAPE GUIDE TEFLON $67.17
WPT0084 DOUBLE GEAR STEEL $27.76
WPT0085 WT LARGE MOISTENING BRUSH $215.28
WPT0087 ROLLER BRUSH $49.58
WPT0088 3/8" DIA NP MAGNET .060" THICK $25.94
WPT0089 WT WATER POT-ROL $44.08
WPT0093 TAPE GUIDE $143.24
WPT0094 WT PIVOT SHAFT $39.17
WPT0095 ROLER BRUSH $20.87
WPT0096 GAP FILLER $34.92
WPT0097 ATTACHMENT PLATE $34.50
WPT0098 WAT BOTTLE CLAMP $134.18
WPT0100 WAT TAPE CODER 3" $3,030.82
WPT0102 WT MOISTENING BRUSH $52.14
WPT0102 WT MOISTENING BRUSH $52.14
WST0003 WT BOTTLE SA $16.35
WST0005 WT HANDLE S/A $51.13
WST0006 WT ONE WAY GEAR SA $60.15
WST0007 WT BRUSH POT. SA $174.75
WST0009 WT PINCH ROLLER SA $37.48
WST0010 WT CUTTER BLADE PIVOT SA $48.97
WST0011 WT DRIVE ROLL SA $121.44
WST0012 WT MAIN GEAR PIVOT S/A $29.21
WST0013 WT TAPE GUIDE SA $143.08
WST0015 WT CUTTER BLADE S/A $131.16
WST0023 WE HEATED BRUSH POT SA $403.83
WST0024 WE BRUSH POT LOCATOR SA $166.93
WST0025 WE DRIVE ROLL SA $77.90
WST0026 WE SENSOR ASSEMBLY $387.51
WST0030 WT BOTTOM PLATE FRONT ASS'Y $115.46
WST0046 TWA1000E ENH MAIN BOARD ASS'Y $200.83
WST0047 WETTING COMPARTMENT $208.66
WST0048 HEATING UNIT $173.88
WST0055 WETTING ROLLER ASSEMBLY $57.63
WST1001 WAT BLADE KIT $214.62
WST1002 WAT SPRING KIT $34.29
WST1003 BLADE UPGRADE SUB-ASSEMLY $139.01
WST1009 WETTING COMPARTMENT W/ ROLLER $146.06
WST1013 WAT BALL CHECK VALVE ASS'Y $24.34
WST1014 WAT BOTTLE SA $48.69
WST1016 WAT BOTTLE/ROLLER UPGRADE KIT $207.47

30


